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SN FUSKD
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= _ — d =
SN FE - EA(SA) - MRAY - BES 0l &t o il Bl RE2
==X 1,118,913 1,181,141 A62,228
= 166,458
< 32,099
s 920,356
IO NS L HASS MEHFXR 1,053,563 1,171,831 A 118,268
= 166,458
< 32,099
[ia 855,006
g0 ==i Hel(A==sHSESAH) 1,053,563 1,171,831 A 118,268
= 166,458
< 32,099
[ia 855,006
o220 d=H =2H RE3 821,445 886,966 265,521
308 XtXIEHH SOl A 821,445 886,966 A 65,521
07 IXNSHH UL S 821,445 886, 966 A 65,521
O 2d=22S0W &A=zl 819,527,000 819,527
O ALK 1,860,000& 1,860
O gatsE4 =l 58,000& 58
220 / A=SH2AA 22l (2]) 69,248 68,670 578
= 55,398
= 10,318
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101 @124l 69,248 68,670 578
= 55,398
< 10,318
[ia 3,532
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O A= SH2elAL elAH] 34,624,000 x2H 69,248
= 55,398
< 10,318
[ 3,532
Sgz=0 / UX=s2 € =2ord #23(=4l) 70,529 89,208 A 18,679
= 56,423
< 10,509
e 3,597
307 glz2+ol & 70,529 89,208 A 18,679
= 56,423
< 10,509
i 3,597
01 222724l 70,529 89,208 A 18,679
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= 56,423
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i 3,597
o230 / HOHAERE T SoUI(34]) 46,795 84,957 A 38,162




A FUEX L
HE: RO ZMHLT U HASS MBAENY
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- _ _ RE]
SA BB (3H) - NRAY - B Ol At o ﬁ}lgﬁ HRE2
= 37.436
& 6,972
= 2,387
307 2iz2to| A 46,795 84,957 N 38,162
= 37,436
< 6,972
= 2,387
o1 s R=dl 46,795 84,957 N 38,162
O HHIEXDID] 20l XA 46,795,000 46,795
= 37,436
& 6,972
= 2,387
o220 / A=230¢ 2A22H(=24]) 21,501 20,621 880
= 17,201
=} 4,300
101 e1214| 7,440 7,440 0
2 5,952
& 1,488
03 2INHA2ZXNHE = 7,440 7,440 0
O Z2WAHHbI 310,000 x2H x12& 7,440
= 5,952
& 1,488
201 Bt 14,061 9,581 4,480
= 11,249
o 2,812
01 AP 22| H| 11,061 6,581 4,480
O 920 22 29 11,061
— SANEXN S MREEE P 7,461,000 7,461
= 5,969
& 1,492
— =2 HEEZE M 3,000,000& 3,000
= 2,400
= 600
— N=ESEH| 300,000 x2H % 13| 600
= 480
= 120
02 2224 4| 3,000 3,000 0
O REea2 210,000 x12& 2,520
= 2,016
= 504
O ges M3t 22 40,000 x12& 480
2 384
= 96
°Z30 / ABS0IA2A 22 24,045 21,409 2,636
101 e1214| 24,045 21,409 2,636
03 RIAHEZZXHE = 24,045 21,409 2,636
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